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A HY4A4X Eih | BB AB(RIHEA i)
BHHN 12 AR 5kg & kg 900 i
BEHN 102 R 5kg 7 kg 800 i
71 8kg Fh [ 1A 7 kg | 1,250 R TE
71 6/7kg Edbd 1A & kg | 1,200 FR FiE
Y 7/8kg = % 1A 7 kg | 1,100 EF TE
Y 10/11kg RIG 1A 5B kg 950 515 FE
ES<Y 7/9kg =I5 1A b kg | 1,300 EBE
hyA 4/5kg BERS 1A 4 kg | 1,400 £
14x 6/8E Fi% 4kg & kg | 1,500 IMB BBS-9THF
ARXF 3/5kg = 1A & kg | 1,400 ETE EX
AU INF 8 KI5 8k 7 kg | 1,500 N
* B 4 =450 4/5kg 5B kg | 2,500 # 5H
R 1.8/3kg FE 1A ) kg | 2,600 BkFE GEX HERIRE
Na=| 2/3kg k.S 1A i kg | 2,500 EE FX
Dals 1.5/2kg = 1A 8 kg | 2,000 EE FEX
g4 2kg k. 1A 5= kg | 1,200
M7 102 FE P P | 1,200
EiEE GEdon] 500g P P | 3,500
RAILKRZILAA = 350g 34 # | 1,200
EHRZILAH 21 E L {34 # | 1,000
BATRAT #9200¢ dbiEE 4 54 350
Ry B #9300g tiEE & kg | 1,600
==91%=! 300/400g =5 & ke | 2,800




